Slgl& 2,17, 21,23

i 3“-1-25' = 3‘:5:"‘

£ xZvr-3=0

?-aﬁ"fj?%ld =0

r243c+2 =0

3‘%” __3!'4_ 3:0

be2-r =1 =D

(r +3Y 1) =0 ire2llc+t) =0 = 02 i dle)) = 1428
r==3 #s=l R S I
j ig t 5 o it e
ﬂ =clg -+ C‘Ef' {j =C,|f, ¢ Ef: S:Ci e + f.;_ﬂ
4.23“ -3y 4y=0 _ Sy4sy'=e h*'f""ci‘}f:a
2c*-3r+i=0O r4+5¢ =0 Yz -9 -0

c= 3\ I-4ai) c {+5) =0 (2c +3)(2 -3) =
r=-3 G=-3
4 NFETD =0 S &
4  -st -3t %t
Gl s :f Y=GE " Y=<t #2t ol
3=E'Et+c;,€l :

T ﬂ“-?ﬂl quf =0
=9+ 20
o= TEVRL-4EI0

201)

JaE 136
- %E‘r&: z (4228 )t
alfsie -
3=E|ei / ‘{'C-;_'E

Moy =Sl wy=0 o) =4, yllol=0
lor*-5r+1 =0

r=5\Z54#eh) =5
Z(to) 12

Yoz =¢ e,
:;’(GFD e, +3¢
R
3G+6 T D catie g
Y= *-Eeﬂdz-rzejt

r..l



24" 434 =0 ylo)=-2 ylo}=3

43 2o
r{r+ra)=o
Nn="3 r=o
%-:cla'ﬂ‘f th
y'= e T ok

o+ il
T y=ge 1 ¢,8 2

G=2Z T3
{r-2)(c+3)=0
rl-t'r = b i

ﬁu*ﬂ.lﬁ{‘gq:t’

21'5” u"jl "2-3 =0 H'{D} . j?&} =5

re=-r=2=p
(r=2)cet) 2p
t
-t

e .
~ "‘:a:i +Elt
e &

o eee o, 8
Yol =g ¢, 7w

by B ooy
=20, ~0, %2
2ot =8¢, =2
ol =2 = (Cq

e
o
h P

Lj: t'ie' +r_l€.

e
[} ]

W
L

i
'Iiﬁ\

t o

n e
i
Y

= Ci':'"{-z

5/ o

/ﬁl)ﬂﬂ"‘!‘/gﬂ_zi e"t
1 e e
o N

&
iRl

-

2t s
'jz(“}.-ﬂ-;ﬂ?' *./EJH*'ZI-'E‘ )

=0

So noed w43 o S awa-g,

3




By'- [E.na-'.}j‘ - fw*l):j:a
-2 e 4ala-1 =0
€, =~} =o.

-tjt
S"EE -+c-_._ﬁLﬂ 1}
{u-lﬁt =

[m e’ d-ci_ =0 nsed w,a-l <6. D x<0

ot {a~1)E )
Then iw. f:,e. +c;e. 210 rwd wa-ido Dady,

3~ Z‘E'. ?mra A7,21,23.

1E'1.t
ﬂ.‘. | B *%E%fuza‘{ﬁ 1'% Eit 4o
tﬂ ':e”%?!
2test sint
w&"ﬁ\‘&iﬁ“ =jeasl  sial / = ettt gin>T 3
stk Cogt
ie'ﬂ Lot :
"‘H "ﬂ{ = ¢ L. e:-%zit*#.; et =e.'4&+‘o.
= 3E & e'k-zéé‘m/
4%, xe"
Wlx xe} =[x xe” = xteMexe® ~xe® « x%X
5 etsin'fl e Seost : .
:Vi{ttaiﬁf c..:zw\{;{:’I Ij gt ot : Ethﬁ;{ = Eﬁﬁfn't cost "Eitgin;'f"ﬂztﬂﬂ b
JF*‘SM'E' e tﬁ!% EiCD.‘S!C “E,t-,;rﬂ{ +_‘_§ttc ot f
5 ’&Lt(::a'n bt yensit)
= _,tzf
b.cn®s, reosze ‘3-;“"}'“' 1 _
.Wf{hnﬁ’-e,h-tﬁba&i “/t.e.-ﬂfa ltcos2d | =-Hsindteds + H3inBcos?® =0
“Zsiabeasd T 280020

X a&&mﬁﬁ



1ty'43y =t , yw=t Y22
"‘i— = l
m.‘-& wohare THO. C®,0); (0,50}
Then t=1 g in {000}
{o0)

oy +{cnss.4:)3' RN H)-j 2o (2)23, y'(2)=]

r:nnﬁ. t:m% whace 140
everyuhere (-®,0), lo,)
Than £22 is in (Es,ﬂl}i
(&)

iailjlf'z.ﬂ"'ﬂ for t¥o Blf.‘d =E ;sj.‘(/.‘ﬂ =¢"!
G2t s t'@)-2(6%) =0
3:“:} =2 ':1‘ iﬁmﬁcf
EY= = ettt =2t -t 2
31&'1 Zf. 4o is assl..
Wy, y i) = (£ £ ) =i-2.=-340
2, 4

Them by Thm 3,24, y= ¢4, +¢y, &) &ﬁws;ﬁmrﬂ &)Cz -

17 TF 4hse l,t}mskun W et '?-amd’ is 3e R ond € L= ztl'-?r\éj&}
W)= 3! L "Zaﬁ“ 3™t

:dr.

e 3
n_zj .-:&ft ot efhlf
E-L't [S 1ﬁ‘3 e l‘t(3€1{) £ 2

jﬁ s ]d‘t J3dt

=3txc

gy = ate  ree?



1[.%“-’4’3 - .E.tj il ‘f‘,o =D

rrec=2 =0

le ¥ 2=t} =0
Y, is o sl .5@.'{'\‘5{51‘:-13 3{&1:1
3*{!11:0
. e j e
g(‘.rlnci:; g e
= z
g r5e  TEe
Yo i & sal %’r{a%ins % ejup}: o)
Slﬂhﬁi N
o
é L S 28, 5-Cs g = f
'Zr..#cl'-‘ I ‘Z{—tz ) ¥ = R ¢ =3
-l = 4 %
225¢ " +3¢ i oy
Wiy &l =Wy, Mol = 3+3 %*f =(1 of =]
Z¥S 343 o 1

By'tdy=o @) =ces2t , y, B =sin2t.

3y ) 2-23in2t Sa —Heos2t + (e 2t) =0
y, ") =~ Heas ¢ y, s & S0 |

gty =2ess2t So “4sinat+¥(sin2t) =0
3';_&) ==4gin 21 Ya s asal

Wiy, g = {2t siazt / : 2cos?lt + 25in%2t = 2(0) = 2
“Zsin2t 2cos2t
-5!: 'j"') 31 ‘#Qfm & FSS.



